LI SN ABE20244E 5 3 L AD AR A RS LIEN BT A iR

ROLARES | FEETHRIS HEIES SHiES w4 BRUWS: | ZEES | ERAKS | RBHENEREF
3134304304230 34220 1 sekskiolotokk 3815 CEN 128 100 228 2
3134304400105 34032 1 kkxkkk%%9363 X2 109 83.5 192.5 i
3134304400104 340101 stttk 00 10 Ei 102. 5 87.5 190 s
3134304304229 34290 | sksskkkx 1 82X EIR 97 81.5 178.5 i
3000747 2 3134304400102 340828kksksckokkx39 14 TE 99 77 176 =
3134304304228 3412225 %k %659X F LIk 99. 5 69. 5 169 i
3134304304227 3426223k kskkotok 4094 A5 3R 92 73.5 165.5 s
3134304400101 34012 1kkskskkkx9113 =, 90. 5 75 165.5 =
3134304400103 340121 stttk 185 HiE % 82.5 79.5 162 s
2134301204121 3424 25%kk4444%07 14 HEEM 109.5 105.5 215 p
2134301204126 3426265+ kkckiokk 2660 e ] 110 104 214 s
3000748 1 2134301204130 340403 sksksksskkk2228 kA 106.5 104.5 211 =
2134301204201 34022 3skstolotokk 6422 FEC 110.5 100 210.5 =
2134301204118 341182%kkksk5%%068 1 B 114.5 92 206. 5 i
3134304400111 341 102sksksoketokk6247 NS 109 92.5 201.5 =
3134304400109 341282%kkkk%%% 7653 TR 102 85 187 B2
3000749 1 3134304400113 34292 1sskksooork402 1 L 95.5 86. 5 182 T
3134304400110 340825 skskskseokek ] 322 BN 110 68 178 B2
3134304400114 340203sksksokotokk 1829 it 94 69 163 s
2134301204302 34082 THkxkkkk %4322 FE A 116.5 103.5 220 i
2134301204304 341225%ksktokokokk 4927 MIHE U 108. 5 96 204. 5 s
2134301204215 342422%kkk5%%%0146 £3E M 110.5 92 202. 5 i
2134301204221 43030 2skskksksoolkok 1609 XS 109.5 92.5 202 s
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2000750 ) 2134301204217 34222 seksktolotokk(1 23 Ik 102 99. 5 201.5 =
2134301204322 3401223k 7229 it 22 IR 102.5 93 195.5 =
2134301204225 341222sksks0kokokk 0527 R 102 93 195 s
2134301204316 340702%%xkk5% %0542 AR 112.5 82.5 195 i
2134301204312 342401 stttk k8489 XI) T 93.5 101 194.5 =
2134301204213 34262 2sksksskskkk 3604 EATYE 108 86 194 B2
3134304400127 340223sksksokotokk 1110 FE3E 0 116 109. 5 225.5 =
3134304400126 34290 | kkkskkk %5814 F 3PS 123 89. 5 212.5 i
3134304400122 340824sksktokotokk 4613 TEMS 90 79 169 =
3134304400120 34240 Lseksksksokkk 4466 it 99 68 167 B2
3000751 2 3134304400121 340123skskstokotokk 1093 TR 102 62. 5 164.5 =
3134304400128 342423 %K kKKK KKTTT5 REF 100. 5 60 160. 5 i
3134304400124 34292 2sksktckoiokk 3776 AR 91 68 159 s
3134304400119 341222%kkkk%%%1430 LSS 2 94 64.5 158.5 =
3134304400123 340826k kskcketokk0317 BB 80. 5 72.5 153 s
3134304400212 34088 [kskskskokotk 341 AR 128.5 98 226.5 p
3134304400208 341204skskskketk00 1 X BRI 114 101 215 2
3134304400206 34081 1skkkokskk k4623 BT 96 90 186 =
3000752 2 3134304400203 341223sksktolotokk 3717 P 106. 5 76 182.5 s
3134304400207 34031 kkxsokknx 1813 L 95 80 175 i
3134304400204 34122 3sksksckotokk( 729 Ryl 98 64 162 s
3134304400130 341322%%xkk%%%9 1 22 k- 76 80 156 i
3134304400229 3426223k kskkotk 565X EES 118 95.5 213.5 s
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3134304400230 342426kttt 4619 HIEE 113 100. 5 213.5 P
3134304400224 34062 sk %5221 B 109.5 95 204. 5 =
3134304400225 3401 1 Lotttk 1 51X ] 89. 5 106 195.5 T

2000753 ) 3134304400228 3401 22skskskssteskk 282 X 108.5 80.5 189 Py
3134304400218 341702skkkk4k60628 T 98 87 185 T
3134304400219 341004skskskskk%00 19 ey 108.5 76.5 185 =
3134304400214 34242 3otttk 117X 14 b 106 77.5 183.5 P
3134304400226 34222 4kkkkkkk%1 321 (£354 99. 5 82.5 182 =
3134304400223 34080 2skkitetekk0223 SRS 89.5 77 166. 5 s
3134304400313 14020255 %xx5x%%2017 BE 112.5 100 212.5 =
3134304400306 34290 Lseokotototokk4 238 e fik 113 99 212 s
3134304400308 3426225 %%k %06 18 2% 108 81 189 Py
3134304400301 34022 Lseekototetekk 1 589 5k B FE 94.5 92.5 187 T
3134304400302 34011 Lskskstoskskk 4549 PIEE 88.5 78.5 167 Py

3000754 2 ‘
3134304400311 34122 Liekstrkeokk 2304 5 85 80. 5 165. 5 =
3134304400304 341223%kkkskkkx1722 2RV A 86. 5 76 162.5 =
3134304400310 340403kttt 2219 HH 86. 5 74 160. 5 s
3134304400315 341602k %7174 JESEAN 84.5 68 152.5 i
3134304400316 341126tttk 0044 2= X 76.5 75.5 152 T
3134304400401 342522k Fk55%%%391 0 % 123.5 101 224.5 2=
3134304400408 340826kktiotekk 4416 FH 111 85.5 196. 5 T
3134304400324 34240 1 %%%555%%8596 fif B A% 108.5 87 195.5 p
3134304400417 371102skkkstoteork 1311 X4 110 83 193 T
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2000755 ) 3134304400413 341202skkkktk 3538 A 113 78 191 P
3134304400406 340826%*kkkk%% 1814 2T 102.5 84.5 187 =
3134304400325 412728*ksskkcskkk 3502 o i 84 97 181 2
3134304400405 341125%%xkk5%% 1090 T 112.5 65.5 178 =
3134304400326 341024skkitoiekx951 1 V) 2% % 84.5 88 172.5 T
3134304400420 340822%kkkkk%% 1614 A7 & 84 87.5 171.5 Py
3134304400513 34082 3otttk 4 044 i 72l el 113.5 101.5 215 T
3134304400514 34082844480 1 2X fiti 77 B2 115.5 99 214.5 i
3134304400526 34132 2skkiiotekx0026 LR 106 103.5 209. 5 s
3134304400522 341602%kkk5%%%9467 FEIE Y 113.5 92.5 206 =
3134304400425 34242 3sskttotk 2166 A 114 90 204 P
3000756 2
3134304400519 340102%%x5k5%%3029 THFE 101 100. 5 201.5 =
3134304400508 3401 23sskoiotototk 3362 ik B 118.5 80 198.5 T
3134304400511 411023%k%%55k%7029 =151 106 91 197 i
3134304400527 34012 Lseekeiototekk 7640 AR/ 107.5 88.5 196 P
3134304400429 340823 kkksk%%%0826 NI 107.5 84.5 192 =
3134304400614 34122 2skkskktk:0 789 2 98.5 104 202. 5 T
3134304400610 34120 4%kkkk55%0824 BN 96 90 186 =
3000757 1 3134304400616 341222skkkk4kx 3285 TR 2 85 93.5 178.5 s
3134304400619 341125%%ksk5%%3805 TN R 95 82 177 Py
3134304400604 341222skkskkkkk6545 -2 86 87 173 s
2134301204405 34060 3%kkkskkkx1245 2[5 5] 104 90. 5 194.5 =
2134301204406 371524skkktotek:6220 7K F 93 91.5 184.5 T
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3000758 1 2134301204327 32068 1 skeksktolotokk 7210 & H 97 86. 5 183.5 P
2134301204412 342626 kkkk%k%% 2223 K& 109 68.5 177.5 =
2134301204401 340121 stttk k8858 AL 72 99 171 s
1134300803627 34122 Txkkksk%%%956 1 i 110.5 110 220. 5 =
1134300804004 340102sksktokotokk 2527 I fik 112.5 105.5 218 2
1134300803726 342425052 1 V5% 117 96. 5 213.5 &
1134300803828 34242 Ttttk 3720 D) 99. 5 110 209. 5 T
1134300803714 342623 %kkkk%% %8982 A e 98.5 108.5 207 =
2000759 . 1134300803712 34242 Ttttk 4424 TNEEE 94. 5 112 206. 5 s
1134300804019 340826%kkk35%%%0020 = 103 102.5 205.5 =
1134300803629 340103sksktokotokk 3528 S 98 102 200 2
1134300804008 34292 3%kkkk%%% 3526 HI A 93.5 106 199.5 =
1134300803723 340302sksksckotokk0226 N 102 96. 5 198.5 s
1134300803913 340222%kkkk %% %6628 = RAT 90 107.5 197.5 =
1134300803907 34260 seksktoketokk 2726 FEARR, 95.5 100. 5 196 2
1134300804919 342623k xkkk%%8123 [ 110.5 112.5 223 i
1134300804703 341221 stttk k5820 i e 111.5 111 222.5 s
1134300804212 34253 0skkstskkx 1321 Wik 116 106 222 Py
1134300804806 34222 4skskskokotok 004X PSS 131.5 90. 5 222 s
2000760 ) 1134300804214 341222 %k %0288 FhEK2Z0 | 114.5 105 219.5 i
1134300804920 3426223k kkckekokk 0486 F R 108 111.5 219.5 =
1134300805119 34222 4k k4% %0624 Wy 124.5 91.5 216 =
1134300805010 22082 2skksksckokolok 6024 REIH 115.5 100 215.5 s
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1134300805218 34290 1 sekstctolotokk 3422 REH 120.5 93.5 214 s
1134300804523 340122s%kkk55%6483 =R 119 94. 5 213.5 p
1134300805428 340122tk 81 38 K SR FH 110.5 98 208. 5 =
1134300805418 3404065 kkskskkk 3455 RG] 102.5 99. 5 202 i
1134300805405 34242 3ksksokotokk521 7 J& XU 96. 5 104 200. 5 s
1134300805416 340122skskskskkk 7673 5 86. 5 99. 5 186 i
1134300805503 341225%ksksckkekk 7515 FAyAf 96 90 186 s
1134300805425 342622%kkkk%%%2150 BT 96 87.5 183.5 =

3000761 4 1134300805504 34222 1 ksksksokokkk 7494 1 95 88.5 183.5 s
1134300805317 341125%kkksk%%% 3852 7 Oth 3 92 91 183 =
1134300805327 34262 2skkkktek k6455 XL 93.5 85 178.5 T
1134300805409 34240 Ik %7932 FRAR 91 87.5 178.5 Py
1134300805430 340822tk 6039 /N 91 87.5 178.5 s
1134300805313 342423 %% xkk%%% 357X 75 51 88.5 88 176.5 i
1134300805403 34012 3sksksokolokk 233X s 95.5 81 176.5 s
1134300805912 3426255k 3099 PR 131.5 102 233.5 =
1134300805604 340122kskolotokk()1 72 YR 121 109 230 =
1134300805911 34122 Ttk 543X 1 [ i 123.5 96. 5 220 i
1134300805620 340122sksksckokokk4 215 BRIRA 119.5 99. 5 219 s
1134300805621 34032 Lksksksokkk 5295 FHOE 112 106 218 B2

3000762 2 —
1134300805803 321023skkskolotokk6018 TR W 113 104 217 =
1134300805923 340104%%x5k5%%0012 = 119 97 216 &
1134300805926 34042 1 stttk 001 1 T 110 106 216 =
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1134300805726 340602sksksoktokk021 3 R AN 105. 5 105 210.5 P
1134300805723 34222 1 kkxkkk%%3036 ENi 121 88.5 209. 5 i
1134300806118 34242 5%ksksckkokk 2226 A 112.5 97.5 210 s
1134300806025 3412023853560 222 eI 114 95 209 =
1134300806010 340322sksktckotokk 4613 T 111 96 207 s
1134300806113 34220 1 kkxkkkk %9372 M i 112 93.5 205. 5 i
1134300806120 341225%ksksokokokk 231 1 Zm L 113 92 205 P
1134300806013 34260 1 kkxkk5k%%0626 % HH 112.5 90. 5 203 i
1134300806019 3424223k kskkokk 4639 A 101.5 97 198.5 =

3000763 4
1134300806115 3422225 % x5k5%%0022 H7K 105. 5 91.5 197 i
1134300806104 340828skksksotolotk 2144 it B 118 75 193 =
1134300806110 341202skkskskskkk552 1 57 4+BH 101 91 192 B2
1134300806112 34118 seieketototokk6617 XA 96. 5 95.5 192 T
1134300806011 341225%%xkkk%% 1253 8 108 83 191 i
1134300806029 340826kkskskokotok 1 824 AT 103 88 191 =
1134300806030 341222k 1816 2= 99. 5 91.5 191 i
1134300806202 342401 stttk k4085 ki i 115.5 104 219.5 s
1134300806214 342423k 2062 = 108 111 219 =
1134300806211 41048 2skktksokokok 2323 A8 A 113 99. 5 212.5 2
1134300806303 3203245k xkk5k% %4208 =k 112.5 96. 5 209 i
1134300806301 34262 5%kskscketokx 2000 BV 95 102 197 P
1134300806205 34012 1 kkxkkk%8803 VFits 104 91 195 i

3000764 4 ‘
1134300806203 6124223k kskckkokk 3220 2l 101.5 92 193.5 s
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1134300806229 34262 3skskscketok k0625 WA 3E 95.5 95 190. 5 =
1134300806210 320322%kkksk%%%1620 HRIEY 98.5 91 189.5 =
1134300806219 450322%ksskkesk5027 LIRS 87 101.5 188.5 T
1134300806226 340121 skskskskk k7007 Sk M 95 93 188 Py
1134300806305 34242 Ttttk 0060 {EIER 94.5 90 184.5 =




